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1250 TEEET 0 0 1 2 0 6 3 3 0 0
1260 fEF R & 0 0 0 2 0 3 0 0 2 1
1270 ESHET 1 2 3 1 2 3 2 0 0 0
1280 FRA4HET 4 5 3 2 1 2 2 1 2 1
1290 $RHT 1 4 3 2 4 6 1 3 2 5
1300 & ZEHT 0 0 0 5 4 5 1 0 2 3
1310 K/LHET 0 0 1 1 0 2 2 1 1 1
9999 K HMR X ET 101 112 111 120 128 143 113 96 67 82
1510 KEHD_EET 10 9 10 12 9 8 15 10 5 12
1520 HEAD T HT 15 12 11 22 17 13 14 10 10 19
1530 #EHNTTHET 6 7 3 5 4 7 6 10 3 5
1540 K{Z=FH] 11 12 15 6 9 11 13 9 4 10
9999 HEMIFZ X &Y 42 40 39 45 39 39 48 39 22 46
2010 EERHET 2 0 1 4 3 10 4 3 0 1
2020 %= &7EHT 2 5 1 0 3 3 4 4 1 3
2030 B ET 0 0 0 0 2 2 0 1 0 0
2040 LIET—TH 1 3 4 2 5 4 4 5 3 1
2050 ;BT =T H 1 5 2 1 6 4 3 4 3 5
2060 Hg i ET 2 0 0 0 1 2 1 0 0 0
2070 FxET—TH 3 5 4 7 5 4 3 2 1 2
2080 FRETZTH 2 3 2 4 2 7 5 4 4 0
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2100 dribHT 4 4 0 4 6 6 3 3 0 5
2110 tEHIETET—T B 3 6 5 6 3 9 3 2 2 3
2120 HEHIFRET—T B 4 1 5 8 4 4 5 6 2 3
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3060 HES THT 4 6 5 14 11 12 9 7 6 6
3070 HER/EAT 8 8 8 10 10 6 7 5 7 13
3080 HHMHT 3 2 5 7 3 10 6 2 3 3
3090 H AT 3 8 3 7 6 5 4 5 2 2
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